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The Intervention being studied and the specific outcome shown.
There may be several different outcomes measured for each intervention.

Result for each study represented by a square. The confidence interval is the line through the
box. Size of box represents size of sample.

Review: Interventions for tubal ectopic pregnancy
Comparnson: 01 laparoscopic conservative surjery wersus open conservative surgery

Cutcome: 01 primary treatment success The measurement scale may
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line; if a good outcome, we would want the result on the right.

The line of no effect would be zero for weighted mean

This diagram shows that laparoscopic surgery (treatment) is not as successful as open conservative surgery (control) for tubal

ectopic pregnancy (as there is less of a beneficial outcome for the treatment compared to the control)
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